& PR AT T L H B R LR RS

[17501821]

ELARERE B [321010] NT s R R @il
BB OE oW R B
2017/04/22 ~ 2017/04/23 BTEHEHE FrEH
RN R S
CO S AR
[BFRE—%
H A+ fiH it 201 3L ARL 57 A KA 8fiL
4230 % 93 F-100m J¥5 44(3) 10.94| &4 B5(20) 11.05( Ml FE2) 11.07|HEHE  S#(29) 11.08[#20H  f&(2) 1118 KAME  5272(2) 129K HE=(4) 114410 F 2E(3) 11.47
) J4:-0.9 BR-BAE R AR BER BAR -k Sl BHAS AR - KAk AR PR A AR - FAR R SR - KA
AH23H 9 400m P TH(2) 50.74 | A (3) 51.70(HH BAM) 51.83[/tyr  IKHE(3) 5L.92[d )11 HEK®) 52.44 0% K 3(2) 53.15[MEAR  HER(4) 53.26|#FK  EHEFQ) 53.72
BRIk BRI LR B AR - B R AR - KA AR - BAR R BRI AR - EAR R BRI
A2z B F1500m HE KO 4:13.58[kiE Q@) 4:13.79[HEH EEERE3) 1442|2810 FREG) 4:14.74|/866 TE(1) 4:16.35 (7781 & KRAG) 4:16.85 Al FhHR(23) 4:18.20[ % R (3) 4:19.91
AR - B R AR - B R B AR - B R R =JIBE Bl B HE e BRI SR - FATE T b AR AR R
AH23H 5 $5000m EEIEEEO) 15:32.24|H . FIK(Q) 15:35.32[77K ki AK(3) 15:36.89|fRH  FEAR(3) 15:44.92[5  —8&©) 15:50.64(J11 = HEM(3) 15:54.84| =i FHk(2) 15:55.49 [fidt K@) 16:05.12
AR - S AR - B R AR - AR - BAR R AR - BAR R F e B BUR F - B BUR SR - RATE R
4H 228 % 5 F-110mH J¥5 44(3) 14.92| R 4 A3) 15.29( kM WEA(2) 15.81|nih  SHR(2) 1591007 HHx(2) 16.29| =i (Hik(2) 16.30(4°f  #kA(2) 16.56
/2:0.0 BAR-BAE R AR - B R AR - KALm AR - KA BRIk AR - AR R AR - KA
ES AR - KAt 42.68 |G AR « S H i 43.99 [ AR - AAVTAL 44.02| AR - 44.55 | EAR AXTT T 44.64 | AR - K 45.18 | AR AT R 45.25 [ J AR - RATL R 46.85
R OKER(Q2) A BEARHR(3) AN ) A BERHR(L) o AR ARl BHh(3) i 22(1) ik k—®)
4H23H|  —BTAXI0mR [ EEQ) wE BNEG) ffn  BE2) K] R HB(2) ek HEA®) 7 Y (= 6)) P RA(3) A AR
kiR M) EAR Q) mHT BAR2) R St AN (¢} i K@) N —(2) R E3) B Q)
[T (C)) B FHAB) g TH©) BB (LD i HEEQ2) B fHTRE) ST AN G)) WA #IE)
EE RPN 3:27.01 |5 HR - I b= 3:30.02| AR - - H = 3:34.60 | 5 - KAV PH 3:37.25 | bR - FAVL R 3:38.92| ik - tHE 3:44.01
il Q) Bk HERQ) Ha =KEG) B 50) He peth) P BHEE)
A2 B axa00mR|HBE B33R(3) M BE2) wE BB W A (3) HH K@) P RIS
Ll A (2) AE —H2) faks A&2R3) g KH2) B H—G) W BRI
VAR 3 X6)) GHgE  Fhd) EAR Q) k5L HIN(3) I ) BB (D
AR220 P [CTITE=DNGY) Im9l|kaAg Q) 1m85( 1 FIHHEI(L) 1m80[JF k= =EH(S1) Im75( 90 $EA(3) 1m70
AR KA AR - B R AR - KA SR - I iR HEE
AR220 P E TS0 4m10[fEVR  1EVRE3) 3m90|fA  EH(2) 3m80 [k fEA®) 3m70|HIE  BA2) 3m60[FEA  AIKQ) 3m40
AR KA AR - KA AR - KALm B HRT T BRI AR - KA
HE AR 6m83C-1L9[Am  JREH2)  6mbI-0.7)|Hot  ARYREG)  6m51GH0.3)|EF A M) 6m50(+2.3) [k SE—EB2)  6m40(+0.2)[HeHT  W(2)  6m28(-1.6)|HT  fHiK(Q) 6ml0GLI|ZEIL HEA(1)  6m09(-2.0)
47221 — P TR E iR B R B iR B R EiR - B R IR SN *F1| iR HHER iR HEE AR K BR-RATLAD - 3
A#R5m19(-2.4)
" e fa ks FHARRR28) 16m01
471220 A 5 7 FL45%(7.260kg) EL i - BMAC
A2 . IR e (28) 57m20 [#ifk  Ik—@3) 44ml12| ks ARHL(3) 3Tm95[HTH  RTE(2) 36m22| =Ji  K—(1) 35m42(kH  KHE2) 33m20 | e MHAE(2) 30mo01
E5R - BMAC BRI R - KALE BRI AR - KL AR - tHE R AR RO
D226 | ke R 6.000ke) A AG) 12m26|BA R%£03) 10m35 W2 filz(2) Im35| I HEEQ2) Im31 |{FEEF B H(2) 8m23 |l #EHh(2) 8m18
) R KiLm SR - FAEAS - AR - AR | AN AR AL R iR -BAE R
w1228 | ERen TG Tk | HIERG) 30m84|*FHE #EE(2) 29m96 [HI5 FEHE(3) 25m82|PrI #H(B) 23m94[FA %) 22m92| %M EA(Q) 21m46|1LA FRAQ) 19m48
T AR AT R R - AT R IR - LM AR SR - RAEAS - AR AR IR L
47123 e 7-400m A 5 RE3) 53.93| B Eik(3) 55.17| TP [AR(3) 55.21 /&N JESE®3) 56.14[/hpk HE3) 57.39|EE  #fE(3) 57.97[%&H  ENEG) 58.05|F Sz K(3) 58.14
) SR - S AR - S AR HE = AR - AR 2P AR -2 IR R HE— AR HE
LA 22 1455 7 1500m At FEKRE) 4:20.66[ =% $h(3) 4:21.62[HE ) 4:25.42| LA HEARQ) 4:25.79(BIfE SEKE) 4:27. 14[k00  ®/E(2) 4:29.21 VK FIK®G) 4:29.25[BAk  THA(Q2) 4:33.86
) AR S GR| SR - 0] g GREHR-1=% R IR R AR - AR - gL 5 - EARBE AR - L
47123 14 73000m R HE)) 9:26.08| 5 #EQ) 9:26.55| MR HEH2) 9:26.70( =/%  KHEE3) 9:26.96 (=5 Hx(3) 9:29.07|EH  ENEB) 9:31.09| K= HEEQR) 9:33.94[IEL R HE4h(3) 9:38.15
) R AR HE = AR HE— R HE=T 5 AR - T R R HE— S HR R R HE=
41228 1429 - 110mH SN BEA(3) 15673  #EQ) 15.96(H F  BHB) 16.52|% k@) 16.731 8T #E(3) 16.99 (B K& 17.71(%F  HEER(2) 18.33
JA:+0.1 R AR - I AR HE AR HE= T AR HE= AR - T R AR HE
AR - HEE = 45.76 | AR - HHE 46.12| B AR -yl 46.67 | AR - HHE—rh 4717 |G AR - e L rh 47.53| AR - KAkrp A7 72| AR - 2E) 1P 47.94| AR - ARG R 48.26
JRE 1EA®B) IR BESH3) PN 2 (6] tapE AR wH RO R OKBH3) R FR LR
471230 FAEHFAXI00mR - |EH FESRR) JUA - ING)) o WEG) &l AANEB) R BOER) BH BAQ) EZ3 RSN E)) R REE)
W EERQ) [SL 2 PN ) BT EakR) L BHE) A HEIKEQ) L B (3) IR ) ()
B4 TRE®G) RAH HEFR(2) & #(2) HEE SERE) K AEk(3) N BEE®R) AR EE@) JEN JRE3)
LA 23H e SRR #ENEG) Im72|8  #E®R) 1m69 |l EB) Im69|HATE 52K03) 1m66| A IEFIE3) 1m60 | B #(3) 1m60 4R -HE(2) 1m50 (Z/AFn B2 (3) 1m50
) AR R AR R AR - L R HE—T R HE=T AR -2 PE R HE—T AR -
&l ANB) 3m70[H L K s (3) 3m50 Ak HA®3) 3mlO[H #E2H3) 2m80 (ZHH  ME=F(2) 2m80 (7N BikE(3) 2m80[iE T Yei(3) 2m80
4H23E 3 T B B HE—h AR - KL B HE—H BRI BRI P R KA AR - R R
IR EAE®B) 2m80
AR K
4A23H PO mEF FIRE)  5m66(-1.0)[JF L HEAAG) 5m60(+0.8)| i WEHG)  5mS3(-L2)|EAE HKG) 5mb0(+0.9)|EE  MEAR) 5Smd9(-0.9)[tEH  #(2) Sma6C-L4[HEH  BIEEG)  5m29CLD[MEE EFkG)  5m21(-0.3)
- R HET R HE— AR -RATEY R HE— R HE= AR R R R HE— EAR -
4A23H F—— ESEEEE) 10m26[BLAT  2Z(3) Im67| & H  FE}(3) Im49|[Es  HER(3) 9m45 s Q) Im34[ K& WRHH(G3) Iml2( Lz Q) 8mb51| i RA(2) Tm14
) AR S AR - 13 By BR-HE=] R HE=] R AR R R R HE= B FH




4230 $125+100m [SE PN 12.05| H%  #Ik(2) 12.25|FCkA HRFR(2) 12.27|t8E  Z{A(2) 12.38|B&H 3 AQ) 12.48| %% H #(2) 12.49(  LUR(Q2) 12671 A8 ) 12.77
JR:+2.7 R HET AR - L R HET R HE— SN AR IR R AR - g B HE=
4523 $135F100m e HEE) 11.63|f@ ks H3(3) 11,65\ K% ii(3) LL74|EA HRER) LLT7| 4R RHE®) L8[ HaA(3) 1191 P HEE) 12.31
JR:+0.8 R K S L AR IR R B HE=] BR-AyCIg SRR - K AR - R
4A23H T 1000m I FER6) 3:18.01| RIS HiEpk(6) 3:18.76 ek fl(5) 32715/ Hif6) 3:35.24| L HA(E) 3:36.34|8E  76) 3:39.35|0%k D (6) 3:40.01| &Rk (5) 3:43.37
) AR - B BR-BHEY =T AR - e R SR - RN SR - RN SR - RN R - R B R - R B
Bl TRA & 56.55 | eI+ 5 i/ 58.98| R - HE 1A/ 1N 0L 12| s mitva=y 1:03.66
AKH ffi6) LU=t ()] T 2 IrE) B sRG)
1A 231 MEFBFAXI00mR  [JR R FAFEG) 2} INE) Ay EHEG6) B HESR(6)
A HifHh(6) I yN() o 7E6) fl 1EEG)
A HEEHE) HRZE FERR(6) ANBR HEG) TS Bipk(6)
EA HESHE)  4m09(+2.7)|#rE FEAMRG)  3m89(+3.0)| KM wEHEE) 3m88(-1.5)[/I HEA6)  3mb5(+1.9)[iERT MEHMG)  3mb2(+3.3)|AAE  HE6)  3m51(+2.0)|[mEF  EAK(G)  3m26(+0.9)[ Kk JoBE(B)  3m25(+1.6)
1A 231 IR EERE Rl TR S *E4| E5 AR - 4 TN *B 1| E5 AR - i i/ SR S B R Ryt T B *F4| AR - i/ AR LR R
ZA784mO00(+1.4) ZAF83m79(+1.5) ZA783m48(-0.4)
A2 /N4 F100m HHAR - 4ER() 153411 H5AG4) 15.85| = f5&/K(4) 15.89 k% M) 16.01( =% —#() 16.31|Bcfr A=) 16.43[E48  1&I5@) 16.61(m=fE  28K@) 17.18
JR:+2.4 R R b AR - BN AR MR AR MR R - AR MR AR - AR - AR - N
A2 /N5 55 F-100m [E2E ING) 14.69()1118]  B&H1(5) 1473 [l H .20 (5) 15.22 81 E JZAKRE(5) 15.28[)1LL §fiR(6) 15.28 (370 5 KBB(5) 15.78 A HIE(5) 15.82| F4c L2 Ar(5) 15.83
R +1.0 AR - BSR4/ AR -4 BSR4 i AR - R B SR - RN AR - e B B HE
A2 /1N6 95 F-100m L AEEG) 14.21 BRI Bifk(6) 14.34(BA IEHL(6) 14.42[/hFF - #2/A(6) 14.59kH it (6) 14.63| A EF R ®6) 15.13[ s EFH6) 15.17(#efE Hk(6) 15.24
Hi:-06 SECTRA® BR-RHE =T B TRA & R - R B TRA & SRR - RN R - R R - B
[ZFRB—E]
4231 4 F100m FE W) 12,714 FE=03) 12.88|#H  HkIEQ) 12.91| K FEEG) 13.23)/N e EL3) 13.30[ - 2%©3) 13.37
JR:0.0 iR - B AR - KA BRI AR - K iR =JIRE AR - KA
AR 221 e 7800m FaF i) 2:29.60|J5H  Z=H(3) 2:29.91 |8 &720(1) 2:37.28| 31 e 1(2) 2:37.65| 1A A1) 2:38.43 %7 972(3) 2:39.09 |k 13725(1) 2:40.00|EF]  EEAQ) 2:46.57
iR - HE R AR - B AR - S B SR AR - AR - iR R BRI EE
e F3000m 2 2) 10:12.38 |42 FniL(3) 10:19.35| &46 EIL(3) 10:29.80(f  #7(2) 10:35.16J5H  A5H(3) 10:55.97 | Y ¥ T(2) 10:59.69| il A5(2) 11:03.16 | < A(3) 11:43.71
) AR - S B B EE AR - iR HEE iR HEE AR - B iR HEE iR
AH 220 — 42 F100mH Kty Zdu(1) 14.47(8H  HAER) 14.99|K 4 3(2) 17.92
JA:+2.9 AR KA BRI AR -
iR BE R 50.16 | F5AR « FATL P 52.16 [ B5AR  FATT 8 i 52.54 | AR - Kk 59.19
INEE 3EAR(2) N B53E(2) EZ0/ IE=SE)) HRHEEEG)
1A230 |  irkTaxioomR  [FR O BREQ) g £ (2) JIA %) £l =)
B ERQ) A E42) A T2 ko 2B
i)l HEER) A RAH(2) Kbk Bb1(2) Al Te®)
LA 22 - W HEAER) ImB7| A2 #EF(4) Imb4|flits FEAQ2) Im48[H#& A1) Im45| 4 R4 (3) Im40| M EAEQ) 1m40
B B R TR K R - E R - KA AR R AR R
sA22R e S0 3mO0[dfn  HIZX(3) 3mO0[%5E  ZEHH(3) 2mB0[%iE  FAL(E) 2m40
AR - KALE =HPR| & - KAl =HPR| &R - bV e AR AL
ANEE S EAR(2) 5m19G+LE)|am #ERAEW)  5m05G+2.6)[JFE  BE(G)  4m9TGO.D|mM HA(Q)  AmTIGLA)[KE &)  4m55GLD|AJI ERIRG)  Amd5GL9)|[ =k FHREQ)  4m44G0.D|MAL EFEEQ)  3m80(-0.8)
4A220 — A T HERE AR B B R AR R *E6 | 5 IR - KAk AR AR AR ER = ARV AR HHER = B =) R
ARAMTT(-1.6)
U . [T 6] Im3lEE  Z13) 10m68| =l HEQ) 9m28|JEHE  pRkEQ) 6m36
TEEH] TR TRAROON) | ik SR L SR = IR IR -
vorl an " T EHW 35m36 50 EF(3) 33mO2 A AEHR) 30m74|KE B HEE?) 22m34
TERH] TARCTIRERQ 000 | g ik SR L E AT IR K
A2k DR EIEO) 3Tm67[ARJ EHRER) 35m84 [#Ai KA(2) 33m3L[HR4r H0(@3) 29m86 | AKS x4 (3) 29m60 |t HERA() 24m32(J5 L (2) 21m90(fi i  EH Q) 19m43
AR - EiR R AR - KA AR AT R AR AT P BRI AR - FAR R AR - - R AT
A2 24 7-800m WA SRE(3) 2:21.17|KJf HFHO) 2:24.10| 0 /NFH ) 2:25. 43|k FEmk(3) 2:30.29| =1L #PPI(2) 2:30.99| & LEE(2) 2:34.69| 7R MEFE(3) 2:36.93|Ml  $5E(2) 2:43.05
AR - KA AR - KA R T R H R HE=T AR - R AR - L AR - R
A2 H 4t F1500m g NEEG) 4:50.88 &) HFE(3) 4:55.03| 4 [ HHIE(3) 4:57.60 K £H©) 5:00.52| 4[] SEHTH(3) 5:00.72| MEE  3EWE(3) 5:03.51|#&H 7 HFI2) 5:14.73| Bk FIR(2) 5:14.77
o SR AR - KA AR - R AR - R AR - R R R HE—T E5AR - 1A
AA22E 142 4 7100mH JEE T RER) 15.51 |4tk fRE(3) 16.07|HH  RAG) 16.15[ A 4 (2) 16.40 |k AEWLR3) 16.86 (% H  MEAE(3) 16.90 (4 FAZ(3) 17.67
JA: 414 AR - KA iR HE—T AR -2 R HE—T R HE=T AR - R R HE=T
AR I 51.55| 4R - K —rp 51.64 |51 - KALH 52.14 (iR - HE = 52.30| AR - HE—p 52.91| AR - 251 v o 54.14
A HEEQ) I HHG) JEE IORE) W Q) E L) ik B EQ)
4/1230 A TAX100mR | A AFE(3) FIT - (G)] wmH RI3) BRI BRFR(3) ik FREG) xR FHAB)
SR ERE) hERE AEQ) R IHEF3) BB 44 (3) A B (2) R OER)
wiA  THEQ) BiE 22203) GHgE  ZHREO) ek Rk P ERQ) TR EEER)
FiE EXEG) Imb2|ARE  %EEB) 1m46| A E8(2) 1m43[IliA Z2A(2) 1m40 |5y 5 5ET(3) 1m35 B AEQ) 1m35
AA23E - R KALH iR HE B AR - L B AR - KA AR - KA FE5AR - T EE
) NI HREB) 1m35 Stk Er3E2) 1m35
iR HE AR P
A 22 e 7B A AG)  4m83(-1.D VLA ‘HME(L%) 4m72(-0.4) ZZ%KLL{ HA3)  4m40-2.D)[NE EERQ)  4m36(+0.4) | HEEF %E{(‘s) 4m36(-0.8)[/& ¥ HEWPLG)  Am34G1L.D[FE L) 4m34(0.0)|HLAF 51%;!;%(2) 4m24(-0.8)
iR HE - AR I R AR - L iR HE - iR HE= AR B AR P R HE =
AA123H - R FnZEB) 11m60|[#  72->7(3) 10m78| iz WIELAE®) 1oma2|ikEdx  HAAEA) 10m30| K 4F7(3) 1omIH{ R BEGR) 10mO3|1Lfis  J#R-(3) 9m79[5R) 11 BEA(2) 8m70
AR - L iR HE=T AR 2P AR - L AR H AR - L AR B AR




4A23H 124 7-100m BEIEEIC) 13.33| ik #Ex(2) 13390k REE2) 13.59[m  13552) 13.74 46K ARk(2) 13791 EHEQ) 13.93
JR:+1.0 BAR - BAR - HE t B - [l HFSL R L AR HE= BR-HE=T
4523 1134 7100m =HH O ORJH0) 12.92|# (3) 13. 14| xR TH3) 13.28| BRI ERHH(3) 13.29|4 0 ATER) 13.30(ka TARQ) 13.39 |47 BRIE3) 13.48
JR:+1.6 SR - KL S AR - K — S AR - 2 1P B HE=] AR IR R SR AR R
iR (TR L BE 59.42| B HL - TFA & 1:04.24 | Bl kb 177 1:04.46 | 1R - @i/ 1:05.33| it itz a=7 1:05.38 | msic- e L 1:06.07| B 1R - 4 /s 1:06.14
EHHEAEG) HE o HERG) S fE1E6) HE H%E6) UNE I - £2(6)) BRIE DAEB) EY -3 {6
4H23H hAELpAXI0mR o SERE(6) L)1l H(e) INE OVR72(6) drl ZEE6) ) ZA SUSC)) RIS (6] HAE — =6
i EEF(6) SHTE HER(E) ez i) TF #76) F o ERG) eIl £275(5) HK - fETEG)
JE LIEV6) BRH FHEG) TEAR _EI6) () F ) AR EFHE) Sl 7 AC))
R BT AG)  3me32.D|FHE  WeIh6)  3mb5(+L9)[FRHE FHEG)  3m25(+0.7)[FH EHEG)  3mI5GH0.8)|mEE EHMEG)  3ml0(+2.0)[fEfk EH®G) 3m04(+4.4)|mA ALRSEE)  2mI6(+3. DN EifE6)  2m81(+1.6)
47230 A ERE Bl 2R e B AR R Rl TRA S )2 ] e JESHR - BRI 5 - N *F L[ R - i) *F4 | E5 AR - IR/
ZARE3mO1(+1.1) ZA782m82(-1.5)
4523 N2 -600m Ei 210 1:59.97| ZAF 152%(6) 2:00.29| )11 W552(6) 2:0L.22|RM KA (6) 2:0L54| A JHEEE) 2:05.67|BKF  WIAEG) 2:06.02|FfE K E) 2:08.24| % HLEG) 2:09.68
) SECTRA® AR - )N S AR - S B R R ER Y a7 BRI EY =T R -G SRR - RN SRR - RN
4523 /N4 F100m e RORE4) 16.06 [ .Lizk(4) 16.35[)114  BLiE(4) 16.63[#5H  1H1(4) 16.67[ B8 AW 16.94 |$lfe Be(4) 17.00[#&5  Hifk@) 1744405 HEA@) 17.48
2.1 AR - A i/ R ER Y as RS SR - AN SRR B SR - eI/ R -G SRR - RN
4523 /N5 4F100m N HZEG) 15.35|BIFT  7%(5) 15.40 ik FLHH(5) 15.52| 48 ZHi(5) 15.85 () 4(5) 15.94| 4% LRG) 15.96( 7l SRA() 16.09|aA 754 (5) 16.29
1 40.4 IR - L AR - e R AR - [E L/ SR - AN SSI AL e e SR - RN B - R B SR - R
A2 /16 4 7100m F 1435/ OV27=(6) HATT|RAR S 74(6) 47T LIED(6) 14.92|Hb2 D REE) 14.93[fBHE  Z{i6) 14.99|8m  ATIRE) 15.10|& M JifE®) 15.23
0.1 IR - S kAR )77 S kAR )77 ESAR - R R S kAR )77 SR - A BB Y27 SRR - R FEE
(BERB—E]
Afiosn| YOSHIOKASPRINTSF [Hil:  H75(21) 10.08| i Hk(28) 10.41[B¢)11 K Hr(25) 10420  HESC(23) 10.45 |5 Kifi(3) 10.53|£F  i&s(29) 10.60 [/~ HESN(26) 10.60| 44 i (22) 10.62
100m J&:-0.5 B - HER FHE-Eim Sei-(EAE LT KPR - KA A SUHR - Y SR BT S (EREL AR SR
4R23p| YOSHIOKASPRINTH T B BkFG0) 32.47(H EbEE(23) 32.86[AFT  Fusti(24) 33.04|AKRAS  PE(25) 33.05(®fE  Him21) 33.85|& E—RRC21) 33.92[/NPE  B5K(26) 33.95[ M HF3) 34.44
300m M) -E Y — & -NTN F)-PUE T KPR - KA A PN li%: TN AR JER SR S (EREL AR - KA
sRoap| REBTU-sT V- (MR (5D 1011 Akw1(30) 10.32|+=F  &EH(29) 1057|474  Fnif22) 10.711/M 4 (26) 10.77| Ml BB2HE3) 10.90 | 4% [55(3) 10.92|/h P B3 K (26) 11.06
100m & :+1.1 B - HER ) - SedE BT AR SR Sei-(EAE T AR - KA SR - HPER S EKETL
agosp| HEEBTO—L797 V-2 il ERE8) 10.37|MA  HESC(23) 10.45| %11 K Hu(25) 10.45|8  fEbEE(23) 10A47'EA  Kif3) 10.53[mF  #1(32) 10.65|%  E—HR21) 10.82| A% Fusi(24) 10.93
100m(@) Ji:+1.5 FHE-Edm KR - KA A Sei-(EAE T — & -NTN SUHR - Y& THE-E s AR JER B K F)- UL
B o) 15:00.79| A& HHH(3) 15:03.33[@ R FR(2) 15:14.04|t8 8 1hZ(2) 15:14.63| bk BR(2) 15:16.13|HE  #4(3) 15:20.21 |3 #hiFk(2) 15:23.20| Fot £ A7) 15:24.23
SUHR - Y& P AR - S R HETH S e - l] | L1+ AL - VS P AT - VS P KRB - KB
B T m— BB BERL3) 15:00.13[ =3 #EFI(D) 15:00.79| &% Z4E(3) 15:07.55(d)11 #EA#I(17) 15:09.68 (711 #ik5(2) 15:12.02(F# 0 Lhst(17) 15:16.37( AR KAQ) 15:20.70[/5 A —FHH2) 15:30.54
R HE T SUER - VP Rt - KA KRB KB S HL SR KRB - KB - 05E PN
4R23p| YOSHIOKASPRINTL T FA AR 11.89| AL ¥R #(20) 12.00| R Z&(22) 12.03|&H  Wix22) 12.06 2% A FE(18) 12.17%A  AvdE4) 12.22|fHF M HZEB) 12.66
100m Jil:+1.4 ke b BT KO FIFEREA H - As—meESTELLE HU - JM S F KRB 5 2R RE-BBHEKR Bl k1A
43| YOSHIOKASPRINTZF FHil 30 37.76|HR I Hn(2s5) 38.09|FF A  WA(18) 3847 A ZFE(25) 38.96 (S IH(18) 39.54( BfZ &3E(18) 39.98[ )11 FEEEG) 40.03 (410 P F(19) 40.10
300m SR KIRAkEE K NTR|HsL - EL AR e - RORERAT e - ROERAT FHE-F IR PNIIPNI I IN IR - B A & T - RBRAUIRR
P s s e L N ) 12.09( B 7bixe2) 12.21|R #RFQ20) 12.35(f 2 A FE(18) 12.43[FAR  VA18) 12,643 % 5(18) 12.73 (%@ 4F 16 H 2£(3) 13.01 |5 ¥ H(22) 13.01
100m f&:+0.6 B R AR AL - M S EE Koy FIFEBER KRB 5 IR & b FOERAT FHE-FILFERER S Kb S KB
aRoap| FRERTUA-LT V- (RER S RRQ2) 12.11[%1 D #E(19) 12.18[FiA A HEQ4) 12.23[ A Z0J(25) 12.230 411 #EEG) 12.38
100m(@) J:+0.9 HUr - As—meESTELLE P IPNIEAE 9N HER-BBHEK & b FOERAT AR - B A

JLBI NTR: B AR @ fdk GRoKZ gk #F 10108 H 23 AR & #F4:418] B 23 A7 F #F6:6[8] B 23 A7 & =HPR: R IR # k2 A itk




HH AT AETI B HER EBE RS [17501821] Be-F sk —Ex
EILARE R EBERE [321010] H A1) 2017/04/23 15:31
2017/04/22 ~ 2017/04/23

No. A [Feérs PRI [FE R Fi H VM FHL| MEAT S0 B | K4 /=24 AT/ A—4"—
1| 47228 |BREERAAG8 | & | % e e Bk R s 1 1 3m00 BEIL SEWZEQ) [ K (EIR)
2| 4H22H | BRI ERAAG06k | | g e Bk e W 1 2 3m00 W BAREG) (KRS (ER)
3| 4H23H | H A& ik 2w | 300m ol 1 1 37.76 B EREEQ0) R AR IR (KBR)
4] 4H22 H | K&k B Hhey 1500m HA WL—A 1 1 4:20.66 A FER(3) - (S R)
5| 4H22H [ K& ek e i 1500m HALL—2 1 2 4:21.62 B [T (SR)

AHEFIEE: 7 EFE(HEREEH=E)
Al HEE BT HE=T Lt

avT 4 v a sNER

AERE RALBEZED Nk k4 T
BREEEHI R £ HEE BCEEHFHIEE
REFTFHER e F ¥ 3C
A £+ ezl | R & (°C) R (%) [mEmA R (m/s)
2017/04/22 09:00 |m§ 16.0 64. 0 m R # (0.4

10:00 |fE 16.5 69.0 AbdE 0.3

11:00 |m 18.0 53.0 AR (1.0

12:00 |5 17.5 51.0 EFH (1.0

13:00 | 17.5 43.0 R 1.5

14:00 |5 17.0 43.0 SEFH (0.7

15:00 | 17.5 38.0 R |13
2017/04/23 09:00 |W 16.0 64. 0 FAREH 0.2

10:00 |i 16.5 55. 0 ME |10

11:00 |5 18.0 44.0 HEFH (0.5

12:00 | 18.5 36.0 JbH 2.0

13:00 |f§ 19.0 38.0 e 1.0

14:00 |m§ 19.0 38.0 JedrsR (1.2

15:00 | 19.5 38.0 FATE 0.4




